)

(S) 0 © 21t
Express the following complex numbers in polar form.
Declinationangle ® is0 © 27T.
1 i
r
roy () (1) V2
1 . 1 7Tt
cos © sin © (S)
V2 V2 4
1 i \/2(005 s i sin )
4 4
V3 i
Find the next value.
n ;
(cose isine)n cosn® isinn©
(i)
. . 7TT
1 i V2 (cos 1sin 4 )

(1 i)

o forfo ) onf )
(v2')* (cos7mt  isin 77T)

ax( 1 ixo0) 4

(va if

Solve the following equation.

z3 i
z z r ( cos © isin 9)
z3 r3 (cos 30 isin 39)
i
i cos 31T i sin 31T
2 2
Bo1 0,30 S Skn (k )
’ 2
Tt 2 kTt
r 0 r 1 , © > 3
0 O 271t k 0,1,2
TT 77T 1171t
o 2 6 ' 6
S V3 i V3 i
’ 2 ’ 2
22 1 i




6 0 O 271t

. \/3_ 51T
cos © 5 sin © 5 (S 3
. .. Tt
1 \/3_| 2(cos 3 i sin 3 )
1 [
n
(cose isine)n cosn © isinn ©
(1 v3 i)
1 \/S_i 2(cos ST i sin ST )
3 3
(1 v3 i)
23{005(3>< 5;_[) isin(3>< 5;:[ )}
23(00551'[ iSin5T[)

gx( 1 ixo0) 8

(2 i)

z4 4
z z r(cose isine)
z4 r4(cos49 isin49)
4
4 4(cosr[ isinT[)
M 4, 40 TT 2KTT (k )
Tt kTt
r o r v2 ,0 n 5
0O O 21t k 0,1,2,3
o TT 31T , 5Tt 71T
4 4 4 4
Z 1 [ 1 1, 1 1, 1 [
z3 1




6 0 O 271t

n

(cose isine)n cosn © isinn ©

# 8 1 V3i)
z z r(cose isine)

z4 r4(cos 40 isin 49)

. . 47T
8( 1 \/3_|) 16(cos 3 i sin 3 )
4 16, 40 2T 2kt (k )
3
TT kTt
r O r 2, ©O 3 5
0 O 2Tt k 0,1,2,3
o TT 5Tt 47T 1171T
3 6 '’ 3 6

(v3 i)

V3 i 2(cos 5(15_[ i sin 5(15_[ )
(va i)
24{005(4>< 5;_[ ) isin(4>< 5(15_[ )}
24(005 0311 i sin 3T[ )
8( 1 Vv3i)




